Math 109            Quiz 10        11/29/07
1.  Find vertical and horizontal asymptotes of the following

    a.   
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   vertical   x = 5/2                        vertical  x = 6  and  x = -1
horizontal  y = 7/2                        horizantal  y = 0
2.  Draw rough sketch of what each the following looks like and note any asymptotes.

a.  y = ax  where a>1.

b.  y = ax  where  0<a<1

See problems 27 and 28 on page 213.  The x-axis is a horizontal asymptote for both types.
3. Use a calculator to find the following:

     a.  5.84.67        3674.59
     b.  e3.32                27.66
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